AN FAARE k24
Il s B A B & ) B kX B 5 & # ¥ = %
B R T4 il Bk # %z " OmM = K = @
(VA5 E O G ] % T HAooos Kk O H 2 =3
1303 Rk B (&BE) 10 3 2.39 85 376 88 50 29 22 21 6 0.769 1.73 7.25
2 718 K JE— (Lv K) 10 3 2.42 81 347 69 41 28 23 28 5 0.769 2.42 5.96
30 224 hE W (EOH) 9 3 2.53 72 320 70 34 26 25 24 4 0.750 2.33 6.8l
4 529 KT &=& (& kK 11 1 2.99 82 370 85 47 35 36 17 2 0.917 1.45 7.26
5 706 AEF O shE (REY) 4 3 3.78 50 245 82 47 27 13 1 5 0.571 0.14 11.48
6 1524 HATARM (& &) 1 3 3.79 20.3 101 31 23 11 6 2 4 0.250 0.69 10.69
7 617 il = (==2-) 9 3 3.91 78.7 38 116 73 44 13 3 15 0.750 0.27 10.32
8 720 Ak ¥ (FHEY) 3 2 4.16 32 150 37 24 19 20 2 5 0.600 0.44 8.09
9 1318 Hl W= (Bl 3 2 4.55 27.7 159 46 39 18 15 6 6 0.600 1.52 11.62
10 810 A#FF  # (71 ) 6 6 4.57 75 374 116 71 49 35 15 3 0.500 1.40 10.83
ENB TR Pk 34
Il EF B A B Ei'd T 53 X B 5 B # ¥ = 53
BT L T4 il £k # 7 " WM = K % 3
iz FE % &% F ] % T HooB Kk OE 2 =33 =3 =3
1 224 HE EE (EOR) 11 2 1.469 81 357 74 33 17 32 31 3 0.846 2.68 6.40
2 303 ZRR #H (B%7) 7 1 1.474 57 242 47 21 12 10 19 2 0.875 2.33 5.77
30410 =/ B (Ly ) 2 0 191 11 49 10 5 3 4 1 0 1.000 0.64 6.36
4 529 RF &7F (& & 7 1 2.23 44 201 51 23 14 21 10 1 0.875 1.59 8.11
5 417 Tl = (Ly k) 72 2.45 60 256 71 27 21 6 6 2 0.778 0.70 8.28
6 718 A JE— (&%) 7 2 2.66 71 302 61 36 27 26 29 2 0.778 2.86 6.01
7 323 fAM B (&%) 2 1 3.00 21 90 20 12 9 7 2 0 0.667 0.67 6.67
8 910 YA H|  (ZEkD) 3 1 3.64 32.7 151 45 21 17 9 1 1 0.750 0.21 9.63
9 1506 B —5% (& &) 7 6 3.92 84 392 107 7247 29 17 7 0.538 1.42 8.92
10 518 zE)Il #EH (B &) 4 1 3.93 41 201 58 38 23 20 10 0 0.800 1.71 9.90
A FRE T4
JIEg  geF B A B fid 1) 3 B 5 & # s = e
B FE L T4 7 Kk * 73 # WM = K % %
iz F B % ] 24 T BOOR KRR =3 = =3
1 303 R HF  (EBEZ72) 10 2 1.38 861 357 8 21 17 12 18 2 0.833 1.46 6.83
2 517 i #F  (BE7) 5 2 1.75 48 192 34 18 12 17 27 2 0.714 3.94 4.96
3 224 H B (EOHR) 9 1 1.78 63 269 56 21 16 24 23 3 0.900 2.56 6.22
4 518 I it (B%7) 6 0 1.81 31 141 39 13 8 7 7 1 1.000 1.58 8.81
5 718 A JE— (B%Y) 9 3 2.50 84 365 80 47 30 27 50 3 0.750 4.17 6.67
6 417 il = (Lv K) 6 6 3.21 72 328 95 52 33 12 13 3 0.500 1.26 9.24
71211 24 OFE O O (TLY) 6 6 3.50 8.9 416 114 75 41 46 29 6 0.500 2.48 9.74
8 810 KK # (VA1) 6 4 3.84 65.7 324 73 57 36 54 10 5 0.600 1.07 7.78
9 1506 EJR —% (& &) 3 7 3.87 81.3 399 101 82 45 31 26 9 0.300 2.24 8.70
10 1317 1. B (Bl 2 8 4.95 65 364 114 86 46 44 11 4 0.200 1.18 12.28
AT PR 54E
JiEg  eF B A B ® ) # B 5 B # s = 4
BFELH T4 i Bk * S # MmN o= K % S
i &5 oo % ] # T RO KRR H & =
1 718 (AR JE— (%) 12 0 0.34 83 318 44 11 4 24 37 0 1.000 3.12 3.71
2 303 RN EH (EZ27) 10 2 1.37 87 367 85 27 17 10 23 2 0.833 1.85 6.84
3 B17 S fuF  (FET) 2 1 1.75 20 84 15 5 5 11 16 0 0.667 5.60 5.25
4 224 HE e (EOHR) 9 1 2.01 80 358 82 35 23 42 28 0 0.900 2.45 7.18
5 518 Z@J)I et (BL7) 6 2 2.56 52 230 62 26 19 16 7 2 0.750 0.94 8.35
6 417 i = (Lv R) 10 2 3.22 74 360 114 58 34 17 12 4 0.833 1.14 10.78
71401 HYPOH— (XA L) 6 7 3.78 74 363 89 63 40 40 14 8 0.462 1.32 8.42
8 810 KK #) (VA1) 2 2 4.00 28 137 35 23 16 14 6 1 0.500 1.50 8.75
8 806 KT & (VA1) 2 5 4.00 43.7 215 54 41 25 26 2 0.286 1.28 8.65
10 1506 EJH —5% (& &) 4 6 4.12 68 340 86 69 40 38 18 2 0.400 1.85 8.85



B ARFRAR  Fk 64
g eF B A B #® % B 5 & H W5 = 1
BFEH T4 £ Ek * %z # MmN = K % %
iz FF % &K # 24 T RO KRR =33 =3 23
1 517 ¥ fiF (% 7) 9 2 1.10 70 274 48 17 11 15 44 2 0.818 4.40 4.80
2303 R B (EBEY) 13 1 1.13 87 344 83 25 14 9 29 2 0.929 2.33 6.68
3 718 IR JE— (EBEY) 11 2 2.04 8.7 373 76 49 25 27 35 4 0.846 2.86 6.21
4 1350 He fEsE (BAD) 3 1 3.03 30 153 36 24 13 17 16 1 0.750 3.73 8.40
5 910 B FE (=) 2 0 3.43 14.3 74 18 14 712 0 4 1.000 0.00 8.81
6 1401 HP BH— (A1) 10 3 4.05 83 406 110 68 48 41 4 6 0.769 0.34 9.28
7 1506 W —% (R k) 6 6 4.35 74 374 114 71 46 32 12 4 0.500 1.14 10.78
8 207 A EH (EDOH) 7 5 4.84 72.3 368 109 79 50 44 17 7 0.583 1.65 10.55
9 640 UK B— (Ir—) 2 9 5.23 64.3 354 83 82 48 64 31 5 0.182 3.37 9.04
10 1317 JLH W (A=) 3 5 5.70 46.7 261 84 71 38 23 3 6 0.375 0.45 12.59
T ANBFRAR Rk 74
JIEg geF B A B #® % B 5 & H W5 = e
BFELH TFT-L24 7 Bk * 73 ' MW = K % @&
iz FF % &K # 24 T B8R KRR =3 =3 23
1 517 I HE  (FE£7) 10 2 1.44 73 289 38 23 15 31 69 1 0.833 6.62 3.64
2 318 R #H (E%) 12 0 1.62 78 321 79 30 18 9 25 7 1.000 2.24 7.09
3 718 IR JE— (%) 10 2 1.79 82 333 75 29 21 16 30 3 0.833 2.56 6.40
4 1103 K &’B = EH) 2 0 2.72 18 77 16 7 7 6 12 0 1.000 4.67 6.22
5 207 4% H (DKL) 11 2 3.22 783 38 106 67 36 38 14 7 0.846 1.25 9.48
6 417 il = (Lv K) 6 4 3.55 69 310 81 47 35 20 8 3 0.600 0.81 8.22
71106 i BeE (5 4 3 3.82 44 212 49 40 24 23 24 7 0.571 3.82 7.80
8 1421 MY HH— (4 1) 6 6 4.14 76 363 89 62 45 41 5 11 0.500 0.46 8.20
9 1318 & e (BlA=) 6 5 4.24 66 338 81 70 40 38 40 4 0.545 4.24 8.59
10 810 A& # (TA2) 6 7 4.95 69.3 350 98 66 49 37 8 10 0.462 0.81 9.90
BN FRAR TRk 8 4
[[[F Q=2 B A B & ) B X B 5 F B s = B
BFE L TFT-24 7 Bk * 73 ' MW = K % @&
i &5 oo % ] P T RO OE 2 25 xR =
1 517 I HE (FEE7) 9 1 1.26 78 302 47 19 14 20 55 1 0.900 4.94 4.22
2 38 KR H (EZ7) 9 1 1.28 76.3 297 62 20 14 10 12 2 0.900 1.10 5.69
3 718 IR JE— (%) 10 4 212 89 372 66 38 27 39 26 6 0.714 2.04 5.19
4 1107 Ml BrE  (Z0E1H) 6 5 2.49 90 415 94 48 32 33 29 2 0.545 2.26 7.31
5 1318 Hig I3 (HAS) 4 5 3.80 59 294 70 57 32 33 29 4 0.444 3.44 8.31
6 207 % BH (EOH) 9 4 3.89 81 361 103 53 45 22 13 5 0.692 1.12 8.90
70314 KRR KW (BE7) 2 1 4.20 20 88 20 14 12 9 19 2 0.667 6.65 7.00
8 1506 IR —% (& k) 6 7 4.54 81.7 395 121 71 53 22 12 3 0.462 1.03 10.37
9 417 il = (Lv R) 7 3 4.95 75 352 111 64 53 13 8 8 0.700 0.75 10.36
10 1201 =4F #fE (7Lry) 0 5 5.31 29 141 38 31 22 19 1 0.000 1.69 9.17
BN FRAR TRk 94
JlE = £ 193] Ei'd T % X B 5 B #% W5 = %
B FEH T4 i Bk * %z # MmN = K % %
iz FE ¥ =% ] % T B8 KRR =3 =3 =43
1 718 [iA JE— (B Y) 10 1 1.75 76 306 71 26 19 11 24 1 0.909 2.21 6.54
2 517 W HE  (B%7) 2 0 2.00 21 85 16 8 6 6 10 2 1.000 3.33 5.33
3 318 RN B (FHEY) 10 3 2.13 82.3 358 93 41 25 13 21 3 0.769 1.79 7.91
4 516 fEH B (E%7) 7 2 2.741  61.3 275 64 36 24 22 15 3 0.778 1.71 7.31
5207 A% H  (fEDH) 11 22.742  81.7 364 87 53 32 27 20 2 0.846 1.71 7.45
6 1318 H% (g (BlA=) 5 8 3.19 74.7 364 84 66 34 42 40 6 0.385 3.75 7.87
7408 HYP #®IL (v ) 2 1 3.41 26.7 120 23 15 13 17 18 3 0.667 4.72 6.03
8 1107 Ml B (=& 6 6 3.59 76 365 88 53 39 34 31 4 0.500 2.86 8.11
9 611 BAR #HE (Fr—) 7 5 4.11 64.7 311 61 56 38 48 53 5 0.583 5.73 6.60
10 1506 & —% (R k) 7 6 4.55 77 370 97 62 50 33 11 5 0.538 1.00 8.82



AR TFRAR FRk104E
g eF B A B #® % B 5 & H W5 = 1
BFEH T4 £ Ek * %z ' OmM = K % %
i &5 % &K ¥ 24 T RO KRR P P 23
1 718 [k JE—  (BZY) 11 1 1.56 85 361 75 37 19 20 31 2 0.917 2.55 6.18
2 318 KR W (B%Y) 12 2 2.56 93 407 111 46 34 15 22 2 0.87 1.66 8.35
3 516 f@H B (£5%7) 8 5 2.85 86 413 104 61 35 28 17 2 0.615 1.38 8.47
4 1107 My B (%R 10 3 2.92 84 366 71 44 35 30 47 2 0.769 3.92 5.92
5 1018 ik #FE (ZK7) 8 4 3.37 83 362 77 52 40 25 44 5 0.667 3.71 6.49
6 1318 & fli=w (Bl 9 4 3.88 75.7 354 62 58 42 58 69 2 0.692 6.38 5.73
7408 HF #IL (Ly ) 6 7 4.35 74 385 76 79 46 61 45 8 0.462 4.26 7.19
8 207 Sk B (EDH) 8 3 4.42  69.7 330 95 62 44 28 9 4 0.727 0.90 9.54
9 617 b 1= (F—) 3 4 4.95 29.7 139 45 28 21 3 6 6 0.429 1.41 10.61
10 614 TR 2z (Fr—) 1 4 5.59 46.3 232 65 43 37 31 25 4 0.200 3.78 9.83
T ABFRAR LR
JIEg geF B A B #® % B 5 & H W5 = e
BFELH TFT-L24 7 BR * 73 ' MW = K = @&
i &5 % &K # 24 T B8R KRR P P 23
1 318 #RiR B (&EZ£7) 14 1 1.08 97 403 86 27 15 14 35 3 0.933 2.53 6.21
2 1018 FH #iE (Zk7V) 10 4 2.46 91 397 73 56 32 28 5l 6 0.714 3.92 5.62
3 207 Ak " (EDOH) 12 3 2.52 86 406 98 62 31 32 19 7 0.800 1.55 7.98
4 516 f8H B (&B%7) 11 4 2.57 84.3 372 89 45 31 29 22 2 0.733  1.83 7.39
5 718 IR JE— (EZY) 7 3 2.64 53 225 49 25 20 11 26 2 0.700 3.43 6.47
6 1318 & fli=w  (BlAR) 12 3 2.78 88 380 75 42 35 43 85 2 0.800 6.76 5.97
771 AR L (HEEY) 2 3 3.93 41 198 35 35 23 37 31 4 0.400 5.29 5.98
8 1107 Ml BrE (=) 8 6 3.94 87 413 105 63 49 44 27 8 0.571 2.17 8.45
9 1601 HRFE—ES (A R) 6 7 4.03 80 398 82 61 46 76 38 1 0.462 3.33 7.18
10 112 BE EKk (32rY) 2 4 4.69 37.3 19 47 40 25 32 9 1 0.333 1.69 8.82
AT TFRRE  Eaes
JIEg  geF B A B fid 1) 3 B 5 & # s = e
BFEH T4 1 Ek * %z ®OMW = K £ %
i &5 B % ] % T BOOR KRR 24 P =3
1 207 4% &' (EDE) 12 1 0.97 87 365 82 28 12 23 22 4 0.923 1.77 6.60
2 618 Uk JE— (F—) 3 1 1.05 20 88 20 10 3 4 14 0 0.750 4.90 7.00
31018 FAH #iFE  (ZAK72) 14 0 1.07 85 354 75 27 13 20 55 5 1.000 4.53 6.18
4 611 BER L (Tr—) 7 3 1.65 55 242 36 32 13 24 47 3 0.700 5.98 4.58
5 318 RN B (FHZV) 10 5 2.16 94 403 101 54 29 9 22 7 0.667 1.64 7.52
6 1318 & Il (Bl 9 4 2.67 78.7 363 66 47 30 49 8 6 0.692 7.56 5.87
71107 Ml B (=) 8 6 2.80 85 405 109 63 34 30 37 10 0.571 3.05 8.98
8 T4 7N e (&BEY) 11 3 3.49 72,3 338 69 48 36 38 54 7 0.78 5.23 6.68
9 112 BE FK (3RVY) 8 5 3.53 81.3 399 96 64 41 61 21 3 0.615 1.81 8.27
10 516 #EH B (B%7) 7 6 4.03 80 384 98 66 46 27 21 8 0.538 1.84 8.58
A FARE Tk
Il 3FE a B & ) B kX B 5 & # ¥ = %
B ELH T4 i B * S # MmN = K 2 %
(VA5 G ] % T BOOR KRR =3 = =3
1 411 A st (Ly R) 8 4 0.93 75.3 312 49 26 10 20 72 3 0.667 6.69 4.56
2 1018 FRHk #iF (=K 7) 10 3 1.58 71 281 49 25 16 12 55 3 0.769 5.42 4.83
3 1318 Mtk flaE (BlA®) 10 3 1.75 72 327 75 28 18 33 54 4 0.769 5.25 7.29
4 T4 In EZe  (BEY) 14 0 1.93 76 315 65 29 21 17 50 6 1.000 4.61 5.99
5 318 JRiR (&%) 9 2 1.99 81 333 88 33 23 6 20 3 0.818 1.73 7.60
6 207 Sk B (EOBH) 12 2 2.08 74 313 78 33 22 12 9 2 0.857 0.85 7.38
7 516 fmH B (B%7) 4 0 3.41 37 170 51 23 18 6 16 3 1.000 3.03 9.65
8 810 Ak B (T4V) 4 6 3.50 64 312 95 57 32 28 10 5 0.400 1.09 10.39
9 1601 HAFHF—ES (A R) 2 6 4.97 39.4 216 43 52 28 50 16 3 0.250 2.84 7.64
10 1107 Mk RE (EERH) 3 7 5.25 58.7 296 89 62 44 23 21 8 0.300 2.50 10.61



AT  Ea1aE
JiEg  eF B A B ® ) # B 5 B # s = 4
B FELH T4 i Bk * S # MmN = K % S
iz FF oo % ] # T ROOOR KRR H & =
1 411 A& st (Ly R) 10 2 1.12 81 322 52 33 13 20 74 3 0.833 6.40 4.49
2 1018 st #iE (2K 7) 12 1 1.49 75 321 66 30 16 11 43 3 0.923 4.01 6.16
3 T4 IR 2 (REY) 8 3 1.71 82 355 85 41 20 21 35 5 0.727 2.99 7.26
4 818 kM fEF] (D) 11 2 1.90 77.3 331 57 31 21 40 68 3 0.846 6.16 5.16
5 507 KT &7 (B%7) 4 1 2.85 27 124 34 13 11 14 5 3 0.800 1.30 8.81
6 207 S B (EOH) 10 4 3.31 69.7 326 87 44 33 28 14 4 0.714 1.41 8.74
7112 Bl O EKRK (3RVY) 2 43.956 40.7 203 56 38 23 23 6 1 0.333 1.03 9.63
8 509 ZHE MWE (B%7) 6 3 3.957 46 223 35 28 26 49 21 3 0.667 3.20 5.33
9 1318 M flEE  (BlAR) 4 3 4.01 52.4 252 67 41 30 28 33 3 0.571 4.41 8.95
10 314 FRR Kl (FE7) 6 4 4.02 61 283 63 54 35 37 49 7 0.600 5.62 7.23
ENBFRRE PR
JlE = B A B % T 53 kB 5 B # ¥ = 753
BT L T4 il £k # “ " WM = K % 3
iz F o % [l % T MmOk’ 2 23 & =
1 801 WEM fE®] (D) 10 1 1.58 62 267 38 27 14 43 77 4 0.909 8.69 4.29
2 1018 FH #iF (Zk7V) 10 3 2.02 83 366 88 36 24 12 54 2 0.769 4.55 7.42
3 A1l AR ik (Ly ) 6 3 2.38 47 212 34 31 16 25 54 1 0.667 8.04 5.06
4 T4 TN ZEe  (EBEY) 10 3 2.49 73 313 74 41 26 19 38 3 0.769 3.64 7.10
5 207 4% H (D) 9 0 2.84 44.3 203 54 26 18 14 5 8 1.000 0.79 8.53
6 509 HH HE (BE7) 12 2 3.01 69.7 328 62 47 30 56 32 2 0.857 3.21 6.23
701423 A\¥ p— (A L) 6 3 3.32  44.3 230 47 44 21 33 12 5 0.667 1.90 7.43
8 418 WA JH— (L R) 2 3 4.04 26 126 36 26 15 4 14 4 0.400 3.77 9.69
9 1107 #Milp == (T—) 5 7 4.20 75 371 87 66 45 45 20 7 0.417 1.87 8.12
10 318 KRN # (FEV) 4 3 4.55 40 195 68 40 26 8 12 5 0.571 2.10 11.90
AT TFRARE  Eaies
g geF B A B #® % B 5 & #H W5 = e
BFEH T4 £ Ek * %z # MmN = K % %
iz FF % &K # 24 T RO KRR =33 =3 23
1 1018 i #uiFx (Zk2) 7 3 2.40 67 305 71 40 23 21 40 3 0.700 4.18 7.42
2 309 Wi iz (&%) 10 12.469 56.7 236 48 25 20 15 48 5 0.909 5.93 5.93
3 801 BEH k"l (Vg v) 4 3 2.471 34 172 29 27 12 38 28 0 0.571 5.76 5.97
4 207 S B (EOH) 12 2 2.59 73 338 90 47 27 14 23 4 0.87 2.21 8.63
5 711 WA L (HEEY) 6 1 3.22 37 154 35 23 17 4 28 3 0.857 5.30 6.62
6 714 TN ZEZ  (BEY) 6 0 4.20 35 163 41 25 21 13 19 4 1.000 3.80 8.20
7314 JRROKEE (FEY) 2 0 4.42 19 98 25 17 12 16 10 2 1.000 3.68 9.21
8 1307 MW 4 (BUL) 11 3 4.45 77 393 105 7349 52 22 6 0.78 2.00 9.55
9 851 ®iH #th (V1Y) 2 1 4.55 20 100 20 17 13 19 6 1 0.667 2.10 7.00
10 127 #F EE (32V) 5 6 4.73 71 347 93 70 48 31 15 5 0.455 1.48 9.17
EANB TR PRI
JlE e B A B & ) B X B 5 F B s = B
BFELH TFT-24 7 Bk * 73 ' MW = K % @&
i &5 oo % ] P T RO OE 2 25 xR =
1 801 WEM fE®] (D) 72 1.69 62 262 45 20 15 27 44 3 0.778 4.97 5.08
2 118 HF miE  (ZEF) 11 2 2.38 853 343 67 36 29 14 31 11 0.846 2.54 5.50
3 314 KRR K (FEZY) 12 1 2.66 73.7 326 60 32 28 44 68 2 0.923 6.46 5.70
4 T4 IR B2 (EBEEY) 4 1 2.97 33 148 39 18 14 8 26 0 0.800 5.52 8.27
5 708 WY fBul  (FEH) 4 2 3.91 34 179 42 39 19 17 12 6 0.667 2.47 8.65
6 1423 )UK sm— (A L) 6 0 4.15 33.7 158 26 23 20 27 8 3 1.000 1.66 5.40
7207 A% B (FEOH) 7 4 5.08 51 238 77 45 37 5 9 2 0.636 1.24 10.57
8 1427 HHE KT (A L) 2 4 5.12 26 142 31 31 19 26 6 0 0.333 1.62 8.35
9 203 E #®mh (EOR) 0 3 5.32  26.3 140 27 31 20 27 14 4 0.000 3.73 7.19
10 1307 @ &F (BUL) 7 5 b5.56 78 377 125 72 62 21 7 7 0.583 0.63 11.22



EAFTFRAE  Ea1sE
JiEg  eF B A B ® ) # B 5 B # s = 4
B FELH T4 i Bk * S # MmN = K % S
iz FF oo % ] # T ROOOR KRR H & =
1 801 M fiEwl (V1) 10 2 0.85 74 303 39 19 9 38 85 1 0.833 8.04 3.69
2 515 Wi iz (R%7) 10 1 1.57 58 246 41 20 13 20 64 1 0.909 7.72 4.95
3118 HFF HmiE (EEF) 12 0 1.78 67 277 58 24 17 14 11 1 1.000 1.15 6.06
4 314 R OKE (BZ7) 4 0 2.23 22 100 12 8 7022 19 1 1.000 6.05 3.82
5 1414 @A FEE O L) 3 5 2.43  40.3 191 28 26 14 31 34 1 0.375 5.91 4.86
6 1601 HAHF—ES (A R) 6 2 3.48 56.3 279 65 39 28 27 17 1 0.750 2.11 8.08
71018 B B (ZK7) 7 4 3.95 62 278 62 44 35 21 66 5 0.636 7.45 7.00
8 T4 TN ZEr (&Y 6 4 4.48 64 310 85 54 41 25 46 8 0.600 5.03 9.30
9 203 Ry wEth (DR 6 4 5.60 45 231 61 50 36 31 24 2 0.600 3.73 9.49
10 909 JF O f (ZERE) 1 2 5.75 20.7 115 24 25 17 27 5 0 0.333 1.69 8.12
EANB TR PR194E
JlE = B A B % T 53 kB 5 B # ¥ = 753
BT L T4 il £k # “ " WM = K % 3
iz F o % [l % T MmOk’ 2 23 & =
1 755 (b foth (BEH) 3 0 0.64 22 78 7 2 2 3 41 1 1.000 13.05 2.23
2 118 HF EhE (=R 11 2 0.68 82 338 81 22 8 13 27 1 0.846 2.30 6.91
31327 B EZE  (NLw) 10 2 0.72 88 316 31 14 9 11 188 3 0.833 14.95 2.47
4 T4 In e (&Y 8 1 1.47 57 238 48 23 12 15 32 2 0.889 3.93 5.89
5 515 Wi fuEz  (B%7) 9 3 2.30 79 350 76 45 26 25 53 4 0.750 4.70 6.73
6 801 M fEE] (V1Y) 7 4 239 70.3 312 41 40 24 49 63 2 0.636 6.27 4.08
71607 AT REA (A R) 1 1 3.01 18.6 88 14 11 8 14 3 2 0.500 1.13 5.27
8 318 FRR #H (&%) 1 2 3.14 22.3 108 31 20 10 4 2 1 0.333 0.63 9.73
9 208 ZH E]  (EDH) 7 3 3.21  69.7 304 76 46 32 16 18 5 0.700 1.81 7.63
10 910 HH MBA (G 6 6 3.34 65 306 71 47 31 30 45 4 0.500 4.85 7.65
AN FRARE TR0
JIE = B A B #® % B 5 & #H W5 = e
BFEH T4 £ Ek * %z # MmN = K % %
iz FF % &K # 24 T RO KRR =33 =3 23
1 1327 B BEHRE  (RNLwy) 3 0 0.35 20 76 6 1 1 36 0 1.000 12.60 2.10
2 755 [l fdh (REY) 3 0 0.48 29.4 103 14 2 2 49 0 1.000 11.67 3.33
3 1401 ®mA R (1) 2 1 1.84 19 90 13 9 5 16 12 0 0.667 4.05 4.79
4 118 HF mE (CEEFR) 9 3 1.90 77.3 327 78 37 21 8 32 6 0.750 2.90 7.06
5 801 M fEal (V1Y) 9 3 1.94 72.3 315 51 30 20 49 74 3 0.750 7.16 4.94
6 511 W iz (&E%7) 8 4 2.30 79 348 71 40 26 27 60 2 0.667 5.32 6.29
7 1018 JEEE Bt (ZKR7) 7 5 2.51 78 355 78 56 28 29 97 10 0.583 8.71 7.00
8 1601 HRFHE—EE (A R) 3 3 2.88 34 178 48 36 14 16 2 3 0.500 0.41 9.88
9 702 HREE | (BHY) 6 1 3.03 41.6 189 41 27 18 22 16 2 0.857 2.69 6.90
10 1403 AkE s (A L) 6 4 3.17 53 256 54 36 24 26 17 4 0.600 2.25 7.13
EABTAHRT T2l
JlE s =] Ei'd 1 B kB 5 & ¥ = %
B FELH T4 i Bk * S # MmN o= K % %
iz F PGS ] P T B8 KO OR 23 B 23
1755 [ futh (&) 5 0 0.00 22.6 80 7 1 0 2 46 0 1.000 14.25 2.17
2 118 HF BE CEEFR) 11 0 0.91 54 220 54 14 7 4 12 1 1.000 1.56 7.00
3 511 W i (RE7) 9 3 1.09 64 272 41 21 10 21 42 0 0.750 4.59 4.48
4 801 M fEE] (V1Y) 2 2 1.43 29.3 128 20 11 6 16 32 0 0.500 7.65 4.78
5 105 K¥F % (ZH7R) 1 1 1.88 26 112 13 11 7 19 28 0 0.500 7.54 3.50
6 910 HHE MEA  (ZERD) 8 4 1.90 70 313 62 26 19 23 47 2 0.667 4.70 6.20
7201 MW R (EOH) 2 0 2.00 14 60 12 74 4 7 2 1.000 3.50 6.00
8 314 KR K (&%) 5 2 2.24 40.7 181 30 16 13 28 29 0 0.714 4.99 5.16
9 735 HE ® (FEZH) 4 1 3.73 35.7 169 39 23 19 25 16 1 0.800 3.14 7.65
10 1120 KE 1E#  (Ir—) 1 2 3.77 13 76 24 24 7T 4 0 2 0.333  0.00 12.92



AT Pkeate
JlE P B A B Eita ¥T # Lk B B B #H B3 = %
BT A4 F— 2 il Bk # 7 # MW = K b ©
it &5 B B % [=] e T P G 5 S - - =3 3 B
1 105 &P FE  (ZFK) 5 1 1.31 32 137 24 13 6 6 34 1 0.833 1.29 5.25
2 801 kM AfER (V) 2 1.38 25.3 109 19 8 5 14 20 0 0.333 5.53 5.26
3 1608 HBEF 5 (A R) 10 0 1.77 63.4 274 62 27 16 23 33 3 1.000 3.64 6.85
4 511 Wi fE  (&R%7) 10 3 1.90 70 306 57 38 19 29 44 1 0.769 4.40 5.70
5 735 HHE | (HEZ) 2 1 2.15 29.3 135 22 18 9 22 11 2 0.667 2.63 5.26
6 201 26 FWH (D) 4 3 2.21 38 157 33 20 12 15 12 1 0.571 2.21 6.08
7910 HE BEA (ZEK®) 4 3 2.47 51 229 49 27 18 27 41 1 0.571 5.63 6.73
8 333 HH &Y (BZY) 3 1 2.96 26 130 21 17 11 30 3 2 0.750 0.81 5.65
9 314 KRR Kb (F£Y) 3 4 2,97 31.7 192 39 31 16 33 23 5 0.429 4.27 7.24
10 222 454k B (EDOH) 5 1 3.32 38 172 50 25 18 8 7 1 0.833 1.81 9.21
AT Press
|5 T a B Eite T B kX B 5 B # ¥ = e
BT A4 F— 1 il Bk # 7 # MW = K b i
iz K& B X =] 2 T Mmoo R OIRO8 = # #
1 735 Wk ®/LE (HEZH) 1 0 0.70 20 81 8 3 2 10 10 0 1.000 3.50 2.80
2 511 WR fE (K% 7) 11 1 1.48 66 282 54 21 14 22 44 1 0.917 4.67 5.73
3 105 KB #‘E (A R) 1 2 1.75 32 143 29 16 8 14 21 1 0.333 4.59 6.34
4 910 HE KA (ZED) 10 1 1.91 66 282 50 28 18 22 44 4 0.909 4.67 5.30
5 1018 &g Wk (5k ) 7 5 1.92 65.7 288 54 30 18 23 67 3 0.583 7.14 5.75
6 118 FF BHE (EER) 8 1 2.56 41 175 49 20 15 5 11 2 0.889 1.88 8.37
7 1519 NH #HFZ (& ®) 2 4 3.47  34.3 153 30 24 17 13 14 4 0.333 2.86 6.12
8 801 W fEW] (DY) 2 2 3.67 21 97 20 13 11 16 19 3 0.500 6.33 6.67
9 1601 HAFHE—HEE (A R) 2 4 4.02 38.3 203 66 47 22 12 6 5 0.333 1.10 12.06
10 714 LR Z#Z  (E%Y) 9 1 4.24 38 187 49 32 23 20 16 3 0.900 2.95 9.03
BABETRRE  FrkoaE RERBREH REeB 1
Jlg e B A B Eifa ¥T % &k B B B M W5 = %
B’ FE A4 F— 14 1 BR Ea 7 #Om = K 7 @
it && O G [=] % T P R = S-S = P 5 P
1105 KB = (ZER) 1 0 079 17.7 75 14 7 2 6 25 0 1000 989 5.54
2 M9 FH £iE ML) 11 111 63 258 45 15 10 22 41 0 0917 456 5.00
3 201 B B (EOH) 2 0 162 13 60 10 5 311 9 0 1000 485 5.38
4 910 58 BA (ZEL) 7 1 178 67 294 61 32 17 23 51 1 0875 533 6.37
5 511#MR Mg (F£2) 10 1 189 557 241 47 20 15 25 43 1 0909 540 5.91
6 70110 "Bz (BE%Y) 5 0 221 38 168 36 21 12 14 25 0 1000 461 6.63
7 TR EZ (%Y 4 1 243 23 99 20 11 8 12 9 1 0800 274 6.09
8 1601 M H—E (RAR) 4 2 401 367 172 48 26 21 9 8 2 0667 153 9.16
9 218 18% #th (EOHE) 5 3 406 483 230 63 41 28 14 22 5 0625 319 9.13
10 118 HF EE (=ZEHR) 9 2 412 493 236 69 41 29 11 16 4 0818 227 9.80
(PN =57 S 254 HFERBRE S HEH x2
Jlg e B A B Eifa ¥T % &k B B B M W5 = 7
B F 4 F— L% i Bk = % 7 MmN o= K % S
it && O G [=] % T P R = S-S = P 5 P
1 50 5k BK (FED) 3 0 0933 30 129 16 9 4 21 36 1 1000 840 3.73
2 31 S BE (F%)) 9 1 163 73 324 60 32 17 33 91 2 0900 873 5.75
3 801 #EH fER (1) 7 2 1.898 59 248 35 29 16 24 89 7 0778 1056 4.15
4 511 MR ME (FE2) 5 2 222 41 168 34 17 13 10 37 2 0714 632 5.80
5 91058 BA (ZEL) 5 5 2578 543 238 43 29 20 37 32 6 0500 413 5.54
6 TR #=Z (XEY) 7 0 2732 41 179 47 19 16 15 18 0 1000 307 8.02
7 16128%F 17 (RAR) 3 2 3032 277 123 27 15 12 10 11 2 0600 278 6.82
8 1419 HE £ (AL) 4 5 3108 473 226 44 35 21 23 24 1 0444 355 6.51
9 201 Bt B (EOH) 3 3 3.405 37 163 30 26 18 23 31 3 0500 586 b5.68
10 118 HF EE (=&EHR) 7 3 3.843 51 236 75 42 28 4 18 7 0700 247 10.29



EAFTFRAE — Fa26E RERKEY HXE%x2
JlE = B A B Ei'd T e o0B WM #H f = %
BFEH T4 7 53 = & " X = K % %
iz FE % &K % ] % T BB OK kR 2 =33 =3 23
1 801 MW fEw (7 1) 5 4 0.72 68 264 35 19 7 21 104 3 0.556 10.71 3.60
2 105 KE F£KsE (EEFR) 8 0 1.13 56 233 39 21 9 17 32 1 1.000 4.00 4.88
3T BAR B (&BEY) 9 0 1.54 59 260 71 25 13 11 31 1 1.000 3.68 8.42
4 351 A BWE (E£Y) 9 3 1.65 67.7 285 43 23 16 36 85 3 0.750 8.79 4.45
5 511 Wil fE  (FE7) 5 3 2.47 34 149 32 17 12 12 28 1 0.625 5.76 6.59
6 50 Sk BRK  (BE7) 1 2 2.93 28.7 126 19 6 12 21 37 0 0.333 9.02 4.63
7 401 LA Zz  (Ly k) 9 4 3.10 70 317 80 44 31 21 36 6 0.692 3.60 8.00
8 918 HHY KA (ZEk) 7 4 3.23 52 236 45 33 24 28 39 4 0.636 5.25 6.06
9 1419 FMH £¢E (A L) 3 4 3.65 48 235 61 43 25 17 42 7 0.429 6.13 8.90
10 201 Bl A (EDOHR) 4 4 4.80 39.4 202 35 39 27 50 18 3 0.500 3.20 6.22
(PN == RR2TAE HERKEH Hathix2
JIE e =] # Edl % k0B MW & # fg = e
B ELH T4 i Bk * % # X = K % @
iz F G ] % T ROOOR kIR O2 =3 =S =3
1 511 5% BEK HE£7) 7 1 0.51 54.7 231 36 16 4 22 61 0 0.875 7.81 4.6l
2 105 RE FEsE (ZEF) 10 1 1.70 65.7 283 50 27 16 29 56 2 0.909 5.97 5.33
3 351 A BAE  (K%70) 6 3 2.33 60 260 48 24 20 30 67 3 0.667 7.82 5.60
4 T AR WD (BEY) 6 3 2.57  62.7 277 74 34 23 8 32 6 0.667 3.57 8.26
5 801 EH fiEm] (v 1Y) 10 2 2.78 73 328 67 42 29 43 94 8 0.833 9.01 6.42
6 918 HE BEA  (ZERD) 6 6 2.94 69 328 74 49 29 29 52 9 0.500 5.28 7.51
7205 {5 ME—  (EDOHR) 9 2 3.38 58 277 52 43 28 48 19 2 0.818 2.29 6.28
8 1419 #FH S Oq L) 5 6 3.62 58 271 63 42 30 23 36 6 0.455 4.34 7.60
9 401 LA EZz  (Ly k) 2 6 3.84 43.7 193 49 30 24 16 17 4 0.250 2.72 7.85
10 1018 2 #uth (=K7) 6 3 4.16  38.7 187 38 30 23 28 22 5 0.667 3.98 6.87
EATTFHAE — Eaess kicere NHES T BERERIE A% X2
JIE = B A B #® T 1 X B WM & H B = %
BFEH T4 7 Bk * & " X = K % %
iz FF % &K F % 1 BB K Ok 2 =33 =3 =3
1 500 A M (RE7) 1 0.77 457 181 25 11 5 13 48 2 0.875 7.35 3.83
2 1419 HH O L) 1 1.08 26 107 14 7 4 12 17 0 0.667 4.58 3.77
3 351 Ak mAE (B%2) 11 1 1.62 78 322 49 23 18 31 92 3 0.917 8.26 4.40
4 1211 W foth (L) 3 32,22 47.4 190 33 22 15 9 77 5 0.500 11.37 4.87
5 105 RE % (Z17K) 10 3 2.33 69 291 49 31 23 29 60 2 0.769 6.09 4.97
6 511 4% BRK (&%) 2 0 2.63 29.3 126 21 18 11 10 40 1 1.000 9.56 5.02
7 801 BEHE fEE] (V1Y) 6 4 3.38 56 257 51 29 27 41 57 2 0.600 7.13 6.38
8 918 HHE MBA (EED) 5 7 3.82 62.3 303 71 52 34 36 51 8 0.417 5.73 7.98
9 712 Wi = &%) 5 3 3.95 55 260 38 37 31 54 59 5 0.625 7.51 4.84
10 205 8B H— (EOH) 6 4 5.01 67 340 81 60 48 55 23 2 0.600 2.40 8.46
EATTFHAE — Ea2os BUE B A HE BRI SA% X2
JIE 3 B A B fi'd T e kB WM B MK fg = i
B R L T4 il Bk # =7 # % = XK = %=
iz HFeZ % K % ] % T SN SN > S =3 x 23
1 1225 (g ot (L) 9 2 0.77  T72.7 268 34 13 8 11 130 2 0.818 12.52 3.27
2121 R wE (EER) 11 2 1.46 71.7 278 49 17 15 14 90 4 0.846 8.79 4.78
3 3Bl Sk BWAE (HEY) 12 0 2.33 75 312 60 30 25 23 83 7 1.000 7.75 5.60
4 411 R B (Ly R) 3 2 2.57 32,7 152 40 19 12 11 19 0 0.600 4.07 8.56
5 500 AR e (&%) 3 2 2.63 32 138 29 14 12 11 33 1 0.600 7.22 6.34
6 205 F MHE—  (EDHR) 7 5 2.88 65.6 315 67 47 27 40 24 4 0.583 2.56 7.15
7918 HW BA  (ZER) 6 7 3.21 72 339 83 51 33 35 57 13 0.462 5.54 8.07
8 801 kM AfE®l (V) 9 4 3.53 81.4 381 72 51 41 59 61 7 0.692 5.25 6.19
9 1419 HHE SE O (ML) 4 5 3.67 47.7 228 52 46 25 23 44 10 0.444 6.46 7.63
10 1621 /Ml 185 (A R) 0 4 4.00 28 132 31 22 16 10 16 4 0.000 4.00 7.75



EATTFHAE  Easos HUE S BRI BUEHEEREIH Ak X 2

JIE 3 B A B fi'd T e K B WM B MK fg = i

B R T4 1 53 = @ # % = XK = %=
iz F5F % K % =l % T BB K Ok 2 =3 = 23
1 1225 1A Foth (7 L) 11 10.367 76.3 272 27 7 4 14 137 2 0.917 12.57 2.48
2 929 B fkAE (ZER) 4 2 0.824 34 131 15 8 4 13 66 0 0.667 13.59 3.09
30 1211 WA (EEFR) 10 1 1.342 73 284 49 19 14 12 87 3 0.909 8.34 4.70
4 351 AHk B (B%) 9 4 1.885 78 351 76 38 21 23 100 3 0.692 8.97 6.82
5 411HBA B2 (Ly k) 3 42,125 52,7 225 51 25 16 8 29 3 0.429 3.85 6.77
6 712 Wb = &) 6 42,254 49.7 235 35 31 16 36 44 4 0.600 6.20 4.93
7 Bl AM BEKRK (FEEY) 3 2 2.5 28 127 20 16 10 20 27 1 0.600 6.75 5.00
8 801 gk fER] (V) 8 3 2.563 71 313 59 44 26 40 81 6 0.727 7.99 5.82
9 1419 FHH HE (A L) 3 3 2.667 42 212 54 36 16 19 43 2 0.500 7.17 9.00
10 1018 i &t (=K7) 2 4 3.2 35 170 43 32 16 21 25 0 0.333 5.00 8.60

EATTFRARE e B S BRI BUERERIIH A% X2

JIE e B A B #® T 1 X B WM & H B = 1

BFEH T4 £ Ek # & # O = XK = 3
iz He % &K F % [ BB K Ok 2 =33 =3 223
112l IR iR (SR 12 0 0.94 66.7 260 44 13 9 13 54 1 1.000 5.67 4.62
2 929 Wk frAE (ZERD) 4 1 1.63 30 114 13 8 7 5 54 2 0.800 12.60 3.03
3 1225 (h@ fath (L) 8 2 1.89 55.6 217 37 20 15 11 85 3 0.800 10.70 4.66
4 T BR B (&EE) 7 0 2.76 33 157 37 19 13 11 26 1 1.000 5.52 7.85
5 1419 HH Z#E (ML) 3 2 2.85 27T 124 26 20 11 12 19 3 0.600 4.93 6.74
6 801 kM fEw] (V1) 6 4 3.35 69 338 67 62 33 49 62 5 0.600 6.29 6.80
71621 /L 1ERE (A R) 2 3 4.16 32 164 44 27 19 19 19 6 0.400 4.16 9.63
8 205 A ME— (EDH) 4 8 4.85 62 321 60 69 43 71 21 6 0.333 2.37 6.77
9 511 A% BK (FEZV) 3 2 6.08 38 194 57 36 33 18 36 6 0.600 6.63 10.50
10 1512 /IBE HZE (R W) 3 3 7.00 34 180 47 37 34 31 22 4 0.500 4.53 9.68
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